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The figures in the margin indicate
full marks for the questions, -

Answer either in English or in Assamese.

1. Answer the following questions: (any seven)
Lx7=7

(i) Write an example of a solution of liquid
in gas.

(ii) What is reduced phase rule ?

Contd.





Which of the following proteins
transports oj^gen in our body ?

.  (a) Keratin

(b) Nucleoprotein

(c) Haemoglobin

(d) Insulin

(ix) Glycine when heated alone gives

(a) methylamine

(b) 2-amino ethanol

(c) diketopiperazine

(d) zwetterion

(x) Carbohydrates are characterised by the
presence of

?

(a) OH group

(b) = O group

(cj Asymmetric carbon

(d) All of the above
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(ui) Explain, aniline is a weaker base tJian
ethyl amine,

(vii) How are amino acids related to protein ?

i£|f6TT 1% W

(viii) Justify the formation of. osazone from
glucose and fructose.

^1

3. Answer the following questions : (any three)
5x3=15

t  RfRW

(i) (a) WhatisCST?

CST^7r1%?

(b) State and explain Raoult's law.

^ ̂  I

(c) Define with example about

azeotropic mixture.

1+2+2=5

3 (Sem-4/CBCS) CHE HG/RC/G 5 Contd.



(ii) (a) Define phase, components and
degree of freedoipi.

^

#Nti

(b) Find the number of components
and number of phases in the
following equilibria and evaluate
the degree of freedom :

*5^ tsTf^

^ ^ g

N2{g}+02ig) ̂  2NO(g)

3+2=5

(Hi) (a) The resistance of a 0.1 M solution

of an electrolyte is 60Q at'300K: The
dimensions of each electrode in the
cdl are 0.85cm X 1.4cm and the

distance betweerii them is 1 cm.
Calculate the. following — cell

.  constant, conductivity and molar
•  . conductivity of the solution.

3ooj^.^ 0. iMi%#?:grqj
60Q.' ^ ^IF5l

0.85cm ̂  1.4cm 1cm.
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ft)} Conduetivity decreases but molar
conductivity of strong dectroli^es
increases on dilution. Explmn.

C^rtoTR I I

3+2=5

(iv) (a) How can you detjermine pH using
'  hydrogen, electrode ?

(b) What types of information may get
by electrochemical series ?

3+2=5

(v) (a) Write Perkin's reaction with
example.

(b) Write the products of the following
reaction :

ifY' + CH3C00C0CH3 >

3+2=5
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(ii) (a) Write short note on :
Ciausius-Clapeyron equation

Or

Phase diagram of one component
system

(b) Describe phase diagram of water
system.

Water system I

5+5=10

(Hi) (a) Derive the conductivity at infinite
dilution by applying Kohlrausch
law.

(b) Write short note on :

S

Transport number and .

conductometric titration;

5+5=10

3(Sem-4/.CBCS)CHEHG/RG/G 10



(iv) (a) Write shortly :

8  • ^

Standard hydrogen electrode and

redox titration.

Derive Nernst equation for.

measuring EMF of the cell.

(c) Write the half cell reactions for

electrochemical cell involving the

.  following cell reaction :

fw?niSf 8

^zidhcu'^^ ̂  Cu(s) f2H

■  Write the applications of electrolysis

in industrial purpose.

■' 4+2+2+2=10
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(v) (a) Identify A, B and C in the following
reaction: '

R&iJlcG.H Aj C 15'il^

\  \

o

CH3-L0H >A >B >C
(b) Prepare the following :

\sq\D Rfiic<iH 2lws ̂5^ %

Acetophenone from acetic acid and

ethyl acetate from ethyl alcohol

(c) Explain, why acetyl chloride gives
nucleophilic substitution reactions

,  more easily than ethyl chloride.

SN ^ I

3+4+3-10

(vi) (a) What happens when aniline is
treated with benzoyl chloride and

NaOH?

?
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(h) Complete the reaction :

xscT^ w §

Cf,HsNH2—^yC6H50H

(c) . Write the Hinsberg test for
distinguish 1° amine, 2° amine and
3° arnine.

r  2° 3° "v£i^rf^

(d) Give the mechanism of coupling of
diazonium salt with phenol.

R&iiR I

V  2+2+4+2=10

(vii) (a) Synthesize the following :

\5o^ RillCOl^ o

Ethyl chloride to aniline and acetic
acid to glycine

(b) What do you mean by zwitterionic
property of an amino acid ?

^#1?! ft

fsn?
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jD-glucose and I^glucose give the

same dicarboxylic acid on

oxidation.

D-glucose L-glucose

Sucrose does not show

mutarotation.

4+6=10
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